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Question Number : 1 Question Id : 6154751437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

6154755601 1
£154755602. 2
E1547556032 2
154755604, 4

Question Number : 1 Question Id : 6154751437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154755601, 1
6154755602, 2
61547556803 3
6154755604, 4

Question Number : 2 Question Id : 6154751438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E154755605. 1
E154755606 2
E154755607. 3
E154755608. 4

Question Number : 2 Question Id : 6154751438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154755605 1
6154755606, 2
61547556807, 3
£154755608. 4

Question Number : 3 Question Id : 6154751439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

154755609 1
6154755610, 2
6154755611, 3
6154755612 4



Question Number : 3 Question Id : 6154751439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
6154755609, 1
6154755610, 2

E154755611. 3
B154r556812 4

Question Number : 4 Question Id : 6154751440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list, which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) {(11) and (1v)

(4) {(111) and (v)

Options:

E1547556813 1
6154755614 2
6154755615 3
6154755616 4

Question Number : 4 Question Id : 6154751440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154755613 1
6154755614 2
6154755615 3
6154755616 4

Question Number : 5 Question Id : 6154751441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr

descriptive features. Match the two sets

Set I
(Evaluation system)
(a) Formative evaluation (1)
(b)  Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)
(v)

Set 11
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (€)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

51547556171
6154755618 2
E154755619 3
6154755620 4

Question Number : 5 Question Id : 6154751441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) {a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)

Options:

154755617 1
£154755E18. 2
154755619, 2
5154755620, 4

Question Number : 6 Question Id : 6154751442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. cbzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
61547556211
6154755622 2
6154755625 3
154755624 4

Question Number : 6 Question Id : 6154751442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154755621, 1
6154755622, 2

6154755622 3
E154755624. 4

Question Number : 7 Question Id : 6154751443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of their socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

E154755625 1
E154755626. 2
E154755827. 3
E154755628. 4

Question Number : 7 Question |d : 6154751443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154755625 1
B1547556826 2
6154755627 3
6154755628 4

Question Number : 8 Question Id : 6154751444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

E154755629. 1
E154755630. 2
E154755631. 3
BE154755632. 4

Question Number : 8 Question Id : 6154751444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E154755629. 1
E154755630. 2
E154755631. 3
6154755632 4

Question Number : 9 Question Id : 6154751445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

E154755633. 1
E154755634 2
6154755635 3
E154755636. 4

Question Number : 9 Question Id : 6154751445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154755633, 1
6154755634, 2

E154755635 3
E1547556356. 4

Question Number : 10 Question Id : 6154751446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (11) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

51547556371
6154755638 2
6154755639 3
E154755640 4

Question Number : 10 Question Id : 6154751446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154755637. 1
6154755638 2
E154755639. 3
E154755640 4

Question Number : 11 Question Id : 6154751447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E154755641. 1
E154755642 2
E154755643 3
6154755644 4

Question Number : 11 Question Id : 6154751447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547556411
6154755642 2
6154755642 3
E154755644, 4

Question Number : 12 Question Id : 6154751448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E1547556845 1
E15475564E 2
E154755647 3
5154755648, 4

Question Number : 12 Question Id : 6154751448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E154755645. 1



E15475564E 2
E154r55647 3
5154755648, 4

Question Number : 13 Question Id : 6154751449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

61547556459 1
6154755650 2
E1547556851. 3
E154755652. 4

Question Number : 13 Question Id : 6154751449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£154755649. 1
6154755650 2
E154755651. 3
E154755652. 4

Question Number : 14 Question Id : 6154751450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) {c). (d) and (e) (4) (d). (e) and ()



Options:

6154755653 1
£154755654 2
£154755E5E 2
6154755656, 4

Question Number : 14 Question Id : 6154751450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

E154755653. 1
E154755654 2
E154755655 3
E154755656. 4

Question Number : 15 Question Id : 6154751451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (A)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



E154755657. 1
6154755658, 2
6154755659 3
6154755660, 4

Question Number : 15 Question Id : 6154751451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154755657 1
6154755658, 2
6154755659 3
6154755660, 4

Question Number : 16 Question Id : 6154751452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

E154755661. 1
6154755662 2
E154755663. 3
E154755664, 4

Question Number : 16 Question Id : 6154751452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6,14

(3) 15, 35 (4) 24, 56
Options:
6154755661,
6154755662,

6154755663,
E154755664
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Question Number : 17 Question Id : 6154751453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The number X in the following series :

3.8,18,38. X, ...is

(1) 78 (2) 80
(3) 76 (4) T4
Options:

E154755665. 1
E154755666. 2
E154755667. 3
E154755668. 4

Question Number : 17 Question Id : 6154751453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafeAfigd sIgFa 0 X 2 -
3.8,18, 38, X, _..

(1) 78 2y 80

(3) 76 (4) 74
Options:
6154755665,
6154755666,

E154755867.
E154755668.
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Question Number : 18 Question Id : 6154751454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ' SOLUTION" 18 RSKTSHASM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5HLH
Options:

E154755669. 1
6154755670 2
E154755671. 3
BE154755672 4

Question Number : 18 Question Id : 6154751454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ & F=ffiga § & 9 =9 4 Tomar smom ?

(1) BQ5/HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options:

E154755669. 1
6154755670, 2
E154755671. 3
BE154755672 4

Question Number : 19 Question Id : 6154751455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

BE154755673. 1
BE154755674 2
B154755675 3
E154755676. 4

Question Number : 19 Question Id : 6154751455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



BE154755673. 1
B154r55674 2
B154755675 3
E154755676. 4

Question Number : 20 Question Id : 6154751456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2y 10%
(3) 11% (4) 12%
Options:

B154755677. 1
6154755678 2
6154755679 3
E154755680. 4

Question Number : 20 Question Id : 6154751456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

B154755677. 1
6154755678 2
6154755679 3
E154755680. 4

Question Number : 21 Question Id : 6154751457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

51547556811
6154755682 2
6154755682 3
E154755684, 4

Question Number : 21 Question Id : 6154751457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidarel = feafd =0 avaa § gieed O Al e 31 SEREETd 5 9 ° g9E T
1 °1 33 F41 FEl A1 27

(1)  3TIH=H Ug S (2) 7 Ig g
(3)  WTYH-eH Ug EHm (4) T
Options:

E154755681. 1
E154755682. 2
E154755683. 3
E154r55684, 4

Question Number : 22 Question Id : 6154751458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E154755685. 1
E154755686. 2
E154755687. 3
E154755688. 4

Question Number : 22 Question Id : 6154751458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E154755685. 1
E154755686. 2
E154755687. 3
E154755688. 4

Question Number : 23 Question Id : 6154751459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E154755689. 1
E154755690 2
51547556391 3
E154755632. 4

Question Number : 23 Question Id : 6154751459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TTET AT A5 HrEE AN UA SIEE Fi i § Feiatad § O e g O getag 27

(1)  dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E154755689. 1
E1547556590 2
E154755691. 3
BE154755692, 4

Question Number : 24 Question Id : 6154751460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

E1547556393. 1
61547556394 2
E154755695 3
E154755696. 4

Question Number : 24 Question Id : 6154751460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTiEd ¥ ¥ :H-T1 [@%ed To9% A 9arsd ) [Gemeal O Jdidd 2 9 29 od J [4iia 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27
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Options:

6154755693 1
£154755694 2
£154755695 2
6154755696, 4

Question Number : 25 Question Id : 6154751461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

E1547556397. 1
61547556398 2
E1547556899 3
E154755700, 4

Question Number : 25 Question Id : 6154751461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gN1 99 #| O fFH

(1) AT T [y iz = ok
(3)  ETa® a= (4)  AITEAHF 95
Options:

B154755697. 1
61547556398 2
E154755699 3
6154755700, 4

Sub-Section Number: 2
Sub-Section 1d: 61547567
Question Shuffling Allowed : Yes

Question Id : 6154751462 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 6154751463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E154755701. 1
B154755702 2
B154755703 3
E154755704, 4

Question Number : 27 Question Id : 6154751464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154755705. 1
B154755706 2
E154755707. 3
6154755708, 4

Question Number : 28 Question Id : 6154751465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547557059. 1
6154755710 2
6154755711 3
E15475571Z 4

Question Number : 29 Question Id : 6154751466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

61547557121
E154755714 2
E154755715 3
B154r55716. 4

Question Number : 30 Question Id : 6154751467 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

E154755717. 1
E154755718. 2
6154755719 3
G154755720. 4

Question Id : 6154751462 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fofaigd difesn § Aty gmnigy =vas 99 9o SARA1 51 9ideddr 91 T 2
Atz o T S 5 S Sae 99a 9 SEa B FE 9= 12,00,000 2, G A1 WOSATEIE
Fafaiad 9941 =1 391 29y :

T Ao Jeqea-£f ST TE

TTel SATRAT =l W]
C++ 15%
C 25%
FIETA 12%
TEH 13%
iG] 15%
A AR UH b 10%
qr2Et 10%

Sub questions

Question Number : 26 Question Id : 6154751463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (Z2) b5:3
(3) gl (4 b5:2
Options:

51547557011
E154755702 2
E154755703 3
E154755704, 4

Question Number : 27 Question Id : 6154751464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154755705. 1
B154755706 2
E154755707. 3
6154755708, 4

Question Number : 28 Question Id : 6154751465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. 9T 31 FE o de A dTe] SRl il Fd T 1

(1) 4.80.000 (2) 5.04.000
(3) 2.16.000 (4) 6.24.000
Options:

E1547557059. 1
6154755710 2
6154755711 3
E15475571Z 4

Question Number : 29 Question Id : 6154751466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2, U 312 U 17 37 = ST Svd i FEEET W@ 9 d S S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

61547557121
E154755714 2
E154755715 3
B154r55716. 4

Question Number : 30 Question Id : 6154751467 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E154755717. 1
E154755718. 2
6154755719 3
G154755720. 4

Sub-Section Number: 3
Sub-Section 1d: 61547568
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154751468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {(a). (c). (b)

Options:

6154755721 1
6154755722 2
6154755723 3
6154755724 4

Question Number : 31 Question Id : 6154751468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFeferfag ey feasd w T=9r fifw
(a) B feF
by HSum

(c) 29T 2 1A

3= OUET gudl & SARE FA °§ srafyd e ok ud et FHu

(1) (). (0. (@
(2 (). (). (@
3 (o) (b). (a)
4)  (a).(c), (b)

Options:

61547557211
6154755722 2
6154755723 2
6154755724 4

Question Number : 32 Question Id : 6154751469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:
61547557251

E154755726 2
BE154755727. 3
B154r55728. 4

Question Number : 32 Question Id : 6154751469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafefigd @ T +9 o1 =70 SR 999 9= & 99 & e ghgs v o1 O geEa 1 aer e

o 9 27
(1) é—‘l Saled

(2) s

s

(3) AT THIG

(4) T

Options:

6154755725 1
6154755726 2
6154755727 3
6154755728 4

Question Number : 33 Question Id : 6154751470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
6154755729 1



E154755730 2
6154755731 3
B154r75573%. 4

Question Number : 33 Question Id : 6154751470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Teigd § d i |1 3-Hel o Hed § 390 ¢ 7

(3)

(4)

Options:

7 FJE H2as WIS T UE 0 2
TE FAT=d HAWl I 9 WO 2 Ol 8
-1t gor 7T 9T e 2

211 7q T S T 9 BT 2

B154r557259. 1
6154755730 2
6154755731 3
E154755732. 4

Question Number : 34 Question Id : 6154751471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

(a)

(b)

(c)

(d)

List I
(E-1nitiatives)
Vidwan
Digilocker
Sakshat

Shodh Ganga

(1)

(11)

(111)

(1v)

Last IT
(Descriptions)

Repository for full-text thesis. e-books
and journals

Education portal to facilitate learning

Databasze of

rezearchers

leading  scientists/

Platform for issuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(a)-(111). (b)-(1v). (c)-(11). (d)-(2)
(a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(1). (e)-(11). (d)-(1v)

E154755733. 1



E154755734 2
6154755735 3
E154755736. 4

Question Number : 34 Question Id : 6154751471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

-1 %1 GEi-11 = 319 AT Hig
T=i-1
(3-afvrzFm)
(a) r'a- gl
by TEEdE=
(c)  HIEE
(d) IIg T
= 20 0 foeT 3 4 O8 S 90

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

E1547557323 1
6154755724 2
6154755735 2
6154755736 4

(1)

{11)

I

(feramo)
q0 o WY e, -g99 AT SHed W
BEL

(ii1) S SR /T T SEeE

{(1v)

Question Number : 35 Question Id : 6154751472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
E154755737. 1



E154755738. 2
61547557359 3
6154755740, 4

Question Number : 35 Question Id : 6154751472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT § Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =34 ggE]
(3) =2 g g uHdi

(4) 22 79 T OO

Options:

6154755737 1
£154755738 2
£1547557329 2
6154755740, 4

Question Number : 36 Question Id : 6154751473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

6154755741 1
6154755742 2
6154755743 3
£154755744 4

Question Number : 36 Question Id : 6154751473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£154755741. 1

E154755742 2
E154755743 3
B154755744 4

Question Number : 37 Question Id : 6154751474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local 1n nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4) (1). (11). (1) and (1v)
Options:

E154755745. 1
E154755746 2
6154755747 3
6154755748 4

Question Number : 37 Question Id : 6154751474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafga § 4 31 w=iawiE g2 it ve9m Fifae 91 =T 55a % 2

2.

(1) AT T T &0
(11) e TgHv

i) gEw

(iv)  Foar Jiadd
(v) AR

(vi) B 398 Ja9H

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 37T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

51547557451
6154755746 2
6154755747 3
6154755748 4

Question Number : 38 Question Id : 6154751475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E1547557459. 1
61547557500 2
6154755751 3
E154755752. 4

Question Number : 38 Question Id : 6154751475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFm oo Ty Auieq /gt 90§ auofig fasm OiFE wrEn (9 3 TEE wH
T2 ae SaeTHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh =
(3)  FEge gmg (4) ITEHITETE F5E
Options:

6154755749 1
E154755750 2
BE154755751. 3



E154755752 4

Question Number : 39 Question Id : 6154751476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

BE154755753. 1
B154755754 2
6154755755 3
E154755756. 4

Question Number : 39 Question Id : 6154751476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g § § FH-51 9% T909 Foard Tadq e 99 (3 U9 O O @ ) F 359 1 i
27

(1)  @FAsa § 09 2138 761 % T550 &1 R
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(3)  WAGA 9F TIHE HAT

(4) TSI IE0 gRT SEa FEAENAT AR i s aan e

Options:

6154755753 1
6154755754 2
6154755755 3
6154755756 4

Question Number : 40 Question Id : 6154751477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

B154755757. 1
6154755758 2
6154755759 3
E154755760. 4



Question Number : 40 Question Id : 6154751477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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8 fawg = vfa faga m=Ew 3w (2019) 5 39@ w9 e
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Options:

BE154755757. 1
6154755758 2
6154755759 3
6154755760, 4

Question Number : 41 Question Id : 6154751478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E154755761. 1
B154r55762 2
E154755763 3
6154755764, 4

Question Number : 41 Question Id : 6154751478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fFa w=in g fvafaes =1 3 o oF e 8 3= 3 Tl ol 5 g #3
% T9 H A1 A1 8 7

(1) Tee favaia==g (2) Tafren fEvata=
(3)  Ariean favateEa (4) Tz favafarem
Options:

BE154755761. 1
B154r55762 2
6154755763 3
6154755764 4

Question Number : 42 Question Id : 6154751479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2} (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

BE154755765. 1
E154r755766 2
E154755767. 3
6154755768 4

Question Number : 42 Question Id : 6154751479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefcIfigd § 4 #H U 98 T-TR9 A FEERl F g2 a7
(i) @1 gmfer
(11) =4 919
(iii) 797 JEEH
(1v) AUed-fagH
(v)  JoHTHF 9

FATeEd el § 8 A7 39 3

(1) (1), (i) 37 (v (2) (1), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 3 ()
Options:

E154755765. 1
E154755766. 2
E154755767. 3
E154755768. 4

Question Number : 43 Question Id : 6154751480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
154755769 1
154755770 2
154755771 2
154755772 4

Question Number : 43 Question Id : 6154751480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE T f91em 9fmg (v ©i & 2)

(2) AR Aaaeaal I09s (3 o1 =18)

(3)  OWAE T9EE 9 (AW i AE)

(4) o 1:1;~:|‘|$,:| R goar9q 9fg (U9 U U i)
Options:
£154755769, 1
£154755770. 2

6154755771 3
6154755772 4

Question Number : 44 Question Id : 6154751481 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of yvoga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

6154755773 1

6154755774 2

6154755775 3

E15475577E 4

Question Number : 44 Question Id : 6154751481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FATTF- T80 WSl H AT i Wih w4 1 Efaigs 8§ @ w5 9 snem 20
(1) ¥ forem fifd-1968
(2) e foren fifa-19386
(3)  WRA H e faew i wfasy gfe, qoemn dw s wfde-2012
(4) T foiEm Hid-2019 F1 9
Options:
6154755773 1
E154755774 2

E154755775 3
E154755776. 4

Question Number : 45 Question Id : 6154751482 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E154755777. 1
E154755778 2
B1547557759. 3
6154755780, 4

Question Number : 45 Question Id : 6154751482 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3= T9e & 3 datya Aifg s mam = G o + vee 991 & wEE #+7

(i) I Frerar =i =
(i)  TafEmEE 93 ° gan
(i) FHEATSAT 377 e higd g SHEE # TEid T

(iv) 9 Tl 1 "5
(v)  TEE T qidsE

Fefeafiad fasedi § O 3191 390 9

(1) (1), (i1) 37T (1ii) (2) (i), (ii1) 3R (iv)
(3) (ii1). (iv) 3T (v) (4) (1), (1) 371 (i)
Options:

E154755777. 1
6154755778 2
6154755779 3
E154755780. 4

Sub-Section Number: 4
Sub-Section Id: 61547569
Question Shuffling Allowed : Yes

Question Id : 6154751483 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating demoecratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154751484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E154755781. 1
BE154755782. 2
B154r755783. 3
6154755784, 4

Question Number : 47 Question Id : 6154751485 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

5154755785 1
6154755786 2
6154755757, 3
E154755788. 4

Question Number : 48 Question Id : 6154751486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

E154755789. 1
6154755730, 2
E154755791. 3
E154755792. 4

Question Number : 49 Question Id : 6154751487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E154755783. 1
E154755794 2
B154755795 3
B154755736. 4



Question Number : 50 Question Id : 6154751488 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

1547557971

6154755798 2

6154755799 3

154755800 4

Question Id : 6154751483 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T : 46 H 50

gz TeHIaF g TH 9199 2 999 A, SAEei, THds i1 S9F 9 g CAmwaq
9 SiqTIE d9a g1 TR 320 A SoAEd: WA UAE % Sad ° 9TH 92 g4 21 A Tk 5
ard H T F@ 20 91 A1 Fad & Tdide 21 A0 THH1GH S8R0 W@ 91 A7 F6 928 T TSI
AN TgE F1 F3 T, 91 300 TAHEd 92 - 99 20 Aad #ed o, 9d: 99N THE T Aad ¢
- “UMAHEETE AR FeiE HdEd 3 ST F 2a™ [Gvgd B9 0 TaHidE 99 S 2.
T &+ =0 AT AR ] TGS AT 9frd #3429 WA Tl g0l 2d 2
AT T H TeHIG® 3=aE 1 2@l ¢4 % o0 20 SidEAEs S50 T O9E 4 ¢l W
el <4 #E “Uidfatac” = faan & Fom= =21 2, 91 Ifdsdr 0 T=9E O =0+ Oy Ofaass 1 T8
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gfafafaea *dt 8 37 I8 @l AT % Rl | 9 SAudEeE F Tfas ataeies e 0 o
ESA A =] A1 F 91 U SAE % Aged H 9 F] T qs SATE9aRdal 2l 2

Sub questions

Question Number : 46 Question Id : 6154751484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AraaEd T (2) T F A9E
(3)  ifama fams (4) FfaHTEHARAT
Options:

51547557811
6154755782 2
6154755782 3
E154755784. 4



Question Number : 47 Question Id : 6154751485 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHTEa F R0 R 0 O =60 1 329 23717

(1)  TH &+ AHaa (2) 32N AHaa
(3) AV TaE ATFAE (4) Tgifa® AFad
Options:

6154755785 1
E154755786, 2
E154755787. 3
B154755788. 4

Question Number : 48 Question Id : 6154751486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) TEEHE T ==
(3) TSI wE (4) AH-Ta=ITH =deEn
Options:

E1547557859. 1
B154755790. 2
6154755731 3
E154755732 4

Question Number : 49 Question Id : 6154751487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
%  ITER Add F a9 F1 fF =9 1 JEr 9 22

(1) Fifq e T (2) wldHTaE $i s=ar
(3)  lafeens qiE (4) F@ AM % [GER] I G990 Y5 FAT
Options:

6154755793 1
E154755794 2
E154755795 3
B154755736. 4

Question Number : 50 Question Id : 6154751488 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



yfafege® AFad % Oad § o F1 F7 fo=m 27
(1) Tafa 21 3=
(2)  TET qrfieE
(3)  HAHMEI TATHA
(4) P ACFEA F @A T F FE
Options:
6154755797 1
6154755798, 2

6154755739 3
61547555800, 4

PART II Prakrit

Section Id : 61547522
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 61547570
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154751489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

This Vedic word of the following 1s equal to the nature of Prakrit.

(1) devabhyam (2) devebhih
(3) savituh (4) dhimahi
Options:

E154755801. 1
6154755802 2
E154755803. 3
E154755804, 4

Question Number : 51 Question Id : 6154751489 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frteiaa 5 9 33 3t w52 F1 73 e F 7 2

(1)  zar=m (2 <A
(3) Tfaq: (4) ™=
Options:

E154755801. 1
E154755802 2
E154755803. 3
E154755804. 4

Question Number : 52 Question Id : 6154751490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Niya Prakrit’ belongs to this period of the development of Prakrit languages

(1) Second period (2) Modern period
(3) First period (4) Third period
Options:

E154755805. 1
E154755806. 2
E154755807. 3
E154755808. 4

Question Number : 52 Question Id : 6154751490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) T (2) ATgHE T
(3) T (4) T
Options:

E154755805. 1
E154755806 2
E154 755807, 3
E154755808. 4

Question Number : 53 Question Id : 6154751491 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The Prakrit of the Aupapatikastutra belongs to this period

(1) Third perod (2) Modern period

(3) First period (4) Second period



Options:

6154755809 1
£154755810. 2
£154755811. 2
6154755812 4

Question Number : 53 Question Id : 6154751491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1)  FdE T (2) S
(3) TgH T (4) =S I
Options:

E154755809. 1
61547555810 2
E154755811. 3
E154755812. 4

Question Number : 54 Question Id : 6154751492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
This book has been written 1n Second Age Prakrit

(1) acaranga (2) samayasara
(3) paumacariyam (4) gaudavaho
Options:

£1547555813. 1
E154755814. 2
E154755815 3
E154755816. 4

Question Number : 54 Question Id : 6154751492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tz 779 BT, TFa 9 for@n 71 2|

(1) AT (2) THFER
(3)  TEEEmE (4) TESEE
Options:

E154755813. 1
E154755814 2
6154755815 3
5154755816, 4

Question Number : 55 Question Id : 6154751493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

For the word ‘pradiptam ' this word is used in maharastri prakrita

(1) paittam (2) palittam
(3 parittam (4) padittam
Options:

E154755817. 1
E154755818. 2
B154755819 3
6154755820, 4

Question Number : 55 Question Id : 6154751493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TETHY 9152 ToTU HEETSl WA ° 39 YIe2 W WA R T 2

.

(1) u=A (2) uleH
(3)  wh= (4) wied
Options:

E1547555817. 1
E154755818. 2
E154755819. 3
E154755820. 4

Question Number : 56 Question Id : 6154751494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Use of ‘dha’ 1n place of ‘tha’ 1s in this prakrit

(1) daurseni prakrit (2) ardham@agadhi prakrit
(3 paiéaci prakrit (4) apabhramsa prakrit
Options:

51547558211
6154755822 2
6154755822 3
E154755824. 4

Question Number : 56 Question Id : 6154751494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o F T W Y F TN H WEG ° Fl 7

(1) =ik wFa (2) Tt WA
(3) T WA (4)  FUHEA TFA

Options:



E154755821. 1
B154755822 2
B154755823. 3
6154755824 4

Question Number : 57 Question Id : 6154751495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For the word ‘dvadasa’ this word 1s used 1n ardhamagadhi prakrt

(1) daasa (2) duasa
(3) duvalasa (4) dalasa
Options:

E154755825. 1
6154755826 2
E154755827. 3
E154755828. 4

Question Number : 57 Question Id : 6154751495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATATTE WA A g F A 9% e ugw f

1) == (2) 7o
(3) AT (4) F=E
Options:

BE154755825. 1
E154755826 2
6154755827 3
61547555828 4

Question Number : 58 Question Id : 6154751496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meaning of ‘ghudukkai’ in apabhramsa prakrit is

(1) Roaring (2) Running
(3) Playing (4) Quarrelling
Options:

515475582591
6154755830 2
61547555831, 3
E154755832. 4

Question Number : 58 Question Id : 6154751496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SATHY TR H YSFAS A Y B

(1) ST SRl (2) 'cfl@FlT

(3) g (4) Theds AT

Options:

6154755829 1
6154755820 2
6154755821 3
£154755832 4

Question Number : 59 Question Id : 6154751497 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The first recension of the ardhamagadhi canons was held at

(1) mathura (2) pﬁi_:a]_iputl'a
(3) vaidali (4) wvalabhi
Options:

E154755833. 1
5154755834 2
E154755835 3
E15475558356. 4

Question Number : 59 Question Id : 6154751497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT AT i wYw ar=E T 5 o

(1) ol (2) T
(3) e (4) T
Options:

E1547555833. 1
6154755834 2
61547555835 3
E154755836. 4

Question Number : 60 Question Id : 6154751498 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Niéitha sutra is included in this group of texts

(1) Cheda aGtra (2) Mala sttra
(3) Upanga siitra (4) Praki_rar_mka stitra
Options:

E154755837. 1
E154755838. 2
E154755839. 3
E1547555840. 4

Question Number : 60 Question Id : 6154751498 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i =3 o=y TE o A 2

1) I (2) HeEA
(3) =AM EA (4) wEME T
Options:

E154755837. 1
6154755838, 2
6154755839 3
61547555840, 4

Question Number : 61 Question Id : 6154751499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The name of the commentary on Kasaya pahudais

(1) Mahadhawvala (2) Jayvadhavala
(3) Dhavala (4) Dﬁrrﬁ shatra
Options:

E154755841. 1
E154755842 2
B154755843 3
61547555844, 4

Question Number : 61 Question Id : 6154751499 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) EEEED (2) ==gaen
(3)  =Fe (4) ol
Options:

515475558411



E154755842 2
B154755843 3
51547555844, 4

Question Number : 62 Question Id : 6154751500 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

This 1s included in the second part of samana suttam

(1) precepts on the path of Liberation (2) Precepts on the transmigatory cycle

(3) precepts on the substrance (4) Precepts on view point
Options:

6154755845 1

6154755846 2

154755847 2

154755848 4

Question Number : 62 Question Id : 6154751500 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
THUEH (A A o SR JeE

(1) HEER (2) TEEEE T
@) A (4) =
Options:

E154755845. 1
E154755846 2
E154755847 3
51547555848, 4

Question Number : 63 Question Id : 6154751501 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The total number of verses in the setubandha mahakavya 1s

(1) 1091 (2) 1191
(3) 1291 (4) 1391
Options:

E15475558459 1
6154755850 2
E154755851. 3
6154755852 4

Question Number : 63 Question Id : 6154751501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IS HETREA § Fel M T 8

(1) 1091 (2) 1191
(3) 1291 (4) 1391
Options:

E1547558459. 1
5154755850 2
£154755851. 3
E154755852. 4

Question Number : 64 Question Id : 6154751502 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The author of the Usanruddham 1s

(1) Ramapanivada (2) Pravarasena
(3) Vakpatiraja (4) Ghanasyama
Options:

E154755853. 1
6154755854 2
E154755855 3
E1547555856. 4

Question Number : 64 Question Id : 6154751502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

., - . e T . - r o
FeATefiad Hiagl 5 Safeg & @l 2

(1)  TEaTEeE (2) wEEd
(3) ATFI TS (4) =ATIH
Options:

E154755853. 1
61547555854 2
E154755855 3
E154755856. 4

Question Number : 65 Question Id : 6154751503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Savva-Kalagama suhaya san_:!.kir_u_:ta kahatti nayavva — this quotation belongs to this book

(1) kumﬁrmﬁlacariyam (2) kuvalayvamalakaha
(3 samaralccakaha (4) mahﬁﬁracariyaql
Options:

51547558571
6154755858 2
E154755859. 3
E154755860. 4

Question Number : 65 Question Id : 6154751503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

W — FHAPH - GEAT A0 — FE T3 e — 9w 380 39 Y 6 R

(1) FATATAGE (2) FITHHTATFET
(3) THIE=F (4) TEER=ERE
Options:

51547558571
5154755858 2
E154755859. 3
6154755860, 4

Question Number : 66 Question Id : 6154751504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“jam na dhunavai sisam kavvam pemmam ca kim tena ”. This part of verse has been used

1n this poetry

(1) vajjalaggam (2) tarangalola
(3) kuvalavamalakaha (4) gahasattasal
Options:

E154755861. 1
E154755862. 2
6154755862 3
E154755864. 4

Question Number : 66 Question Id : 6154751504 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= W yuEE HiE Fea U |9 B A9 [ — 97 v 36 e 3 W A

(1) ST (2) T

r

(3) FATIATATFA] (4) TIETETEE

Options:



E154755861. 1
E154755862. 2
E154755863. 3
E1547555864. 4

Question Number : 67 Question Id : 6154751505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘natya sastram’ is the work of this scholar

(1) hemacandra (2) ks_emendra
(3) mammata (4) bharata mum
Options:

E154755865. 1
E154755866. 2
E154755867. 3
E154755868. 4

Question Number : 67 Question Id : 6154751505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) =u=3 (2) &5
(3) T (4) 9a gHE
Options:

E154755865. 1
6154755866, 2
E154755867. 3
E154755860. 4

Question Number : 68 Question Id : 6154751506 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

éﬁripu‘cra prakarana has been created by

(1) kalidasa (2) bhasa
(3) sidraka (4) asvaghosa
Options:

E154755869. 1
6154755870 2
E154755871. 3
E154755872. 4

Question Number : 68 Question Id : 6154751506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) EAlGEL] (2) 4=
(3) IEF (4) vIEm
Options:

5154755865 1
E154755870. 2
6154755871 3
E154755872. 4

Question Number : 69 Question Id : 6154751507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Manto na tanto na a kim pi jane” this statement is made by

(1) karpUramanjari (2) widusaka
(3) bhairavananda (4) wvicaksana
Options:

B1547555873. 1
6154755874 2
61547555875 3
E154755876. 4

Question Number : 69 Question Id : 6154751507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hal g1 0 A T 00 — 7 Fo o

() = (2) Tog=
(3)  HEE= (4) e
Options:

E154755873. 1
E154755874 2
E154755875 3
E154755876. 4

Question Number : 70 Question Id : 6154751508 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sense of the word “Samajo” used in the Giranara’s inscription 1s

(1) Religious function (2) Pubhec function
(3) Coronation function (4) Function of the Gurukula
Options:

E154755877. 1



E154755878. 2
B154755879. 3
5154755880, 4

Question Number : 70 Question Id : 6154751508 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) = 3 (2) AR
{3} 1] r-'.tlr‘i-l'-Li'-'{"_l.]rH".i {4} W W
Options:

E154755877. 1
E154755878. 2
B154755879 3
E154755880. 4

Question Number : 71 Question Id : 6154751509 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The word ‘pasanda " used in the Giranara inscription stands for

(1) sect (2) happy
(3) philosopher (4) witcheraft
Options:

E154755881. 1
E154755882. 2
E154755883. 3
E154755884. 4

Question Number : 71 Question Id : 6154751509 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AR i 9 T TEsT uE # AR SAhu 2

(1) = EE (2) ==
(3) =W (4) =
Options:

E154755881. 1
E154755882. 2
E154755882. 3
E154755884. 4

Question Number : 72 Question Id : 6154751510 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“abhisitamato ca pathame vase” this sentence 1= inscrbed 1n this inseription

(1) kakkuka (2) Giranara
(3) nasika (4) hathi gumpha
Options:

E154755885. 1
E154755886. 2
E154755887. 3
E154755888. 4

Question Number : 72 Question Id : 6154751510 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATITAEAA F T9H FH TR AT 36 AT6end 3 10

{1} -:'E_.'$ {2} W‘“ .
(3)  ATEE @
Options:

5154755885, 1
6154755886 2
6154755887, 3
E154755888. 4

Question Number : 73 Question Id : 6154751511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The name of the king mentioned in the kakkuka inscription 1s

(1) vadukulatilaka (2) raghukulatilaka
(3 virakulatilaka (4) nathakulatilaka
Options:

E154755889. 1
61547555830, 2
E154755891. 3
E154755892. 4

Question Number : 73 Question Id : 6154751511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FEF A 7 HAF T F A TE 2

(1) R EIEEET (2) THHAdaT®

(3) AFAdAT (4) TIFAAAR

Options:
154755889 1
6154755890 2



E154755891. 3
B154755892. 4

Question Number : 74 Question Id : 6154751512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

This rhetoric treatise is written in Prakmt

(1) kavyalamkara (2) srngaraprakasa
(3) alamkara darpana (4) alamkara sarvasva
Options:

E154755893. 1
E154755894 2
5154755885 3
E154755836. 4

Question Number : 74 Question Id : 6154751512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tq7 FHRRE A T4 TR J 1= 7 —

(1) FTATAFIL (2)  ZTEE
(3) eI = (4) TFFT TEE
Options:

E154755893. 1
E154755894 2
5154755885 3
E1547555836. 4

Question Number : 75 Question Id : 6154751513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

This book 1s written by Vajrasenasiri

(1) chandah kandali (2) prakrit paingalam
(3) chandah kosa (4) gahalakkhana
Options:

E154755897. 1
6154755898 2
E1547555899 3
6154755300, 4

Question Number : 75 Question Id : 6154751513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TFHEN g = T T R
(1)  F=Haedl (2) U

(8)  B=EHME (4) TR
Options:

5154755847, 1

E154755890,. 2

6154755899 3

6154755900 4

Question Number : 76 Question Id : 6154751514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

This 1s the main treatise on Mathematics in Prakrit

(1) trilokasara (2) candraprajnapti
(3) suriyapannatti (4) tiloyapannatti
Options:

£154755301. 1
6154755302 2
E1547553903. 3
E154755304, 4

Question Number : 76 Question Id : 6154751514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ThA B MR ETTE T 0 T 2

[ = .

(1) THATREN (2) -
(3)  FEETTIE (4) TaergaTo
Options:

E1547553901. 1
E1547553902 2
B154755303. 3
5154755304, 4

Question Number : 77 Question Id : 6154751515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

This book 1s written by Vararuci

(1) sabanusisanam (2) prakrta prakasa
(3) sadbhasa candrika (4) prakrta sarvasvam
Options:

5154755305 1
6154755306, 2



E1547553907. 3
5154755308, 4

Question Number : 77 Question Id : 6154751515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T2 U=y STER ZAT T B

(1)  ¥sere (2) A T
(3) ST S (4) A T
Options:

E1547553905. 1
6154755306, 2
6154755307 3
61547553038 4

Question Number : 78 Question Id : 6154751516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Following rule 1s general rule of Prakrt

(1) There 1s no nominative case

(2) Instrumental case 1s used 1instead of objective case

(3) Genitive case 1= used 1instead of dative case 1n Prakrit
(4) Nominative case 1s not used for sambodhana

Options:

E1547553903. 1
E1547553910 2
51547553911 3
61547553912 4

Question Number : 78 Question Id : 6154751516 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) o faufs 321 =

@) feden = form g =1 w=m e 2

(3)  wrFa ° Igfi fauts F T W v fautE = o= e
(4) TS o fo womy faafs = wE S A

Options:

6154755909 1
6154755910 2
6154755911, 3
6154755912 4



Question Number : 79 Question Id : 6154751517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Of the following. this word 1s an adjective

(1) devesu (2) padhaa
(3 visa (4) bahiram
Options:

615475539121
61547553914 2
E154755915 3
E1547553916. 4

Question Number : 79 Question Id : 6154751517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

f=ferftaa 5 o 9= w2 fomaw 2

(1) =" (2) weE
(3)  dmn (4) @I
Options:

£154755313. 1
E154755914 2
E1547553915 3
E1547553916. 4

Question Number : 80 Question Id : 6154751518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

This vowel group 1s absent 1n Prakmt

(1) a, 1 r o (2) e ou 10
(3) al au € o (40 r r al au
Options:

515475539171
61547553918 2
£154755319. 3
61547553920 4

Question Number : 80 Question Id : 6154751518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WA H 50 TEEE F AW 2

(1) TR A (2 THIF
(3) waTam (4) % U

Options:



E1547553917. 1
61547553918 2
51547553919 3
61547553920 4

Question Number : 81 Question Id : 6154751519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct pair

(1) vﬁr;ﬁrasf — metathesis (2) parittha — anaptyxix
(3 sakkaya — dissimillation (4) samjama— ya srutl
Options:

E154755921. 1
6154755922 2
E154755923 3
E154755924 4

Question Number : 81 Question Id : 6154751519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el ITH JeaTHT)

(1) ATET — F=aag (2) Uizar — E=RE
(3)  FEA — HTHE (4) & -7 4
Options:

E154755921. 1
B154755922 2
6154755923 3
6154755924 4

Question Number : 82 Question Id : 6154751520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

*Samano samasuha-dukkho’ — this statement 1s quoted from this text

(1) pravacanasara (2) dravasangraha
(3) sﬁtrakljtﬁﬁga (4) sammalsuttam
Options:

£154755925 1
E1547553926. 2
6154755927 3
E154755928. 4

Question Number : 82 Question Id : 6154751520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e

TV HAEE-AET 9% FUF 7F T+0 H 3G9 7 —

(1) wE=9ER (2) T=HEUR
(3)  FAFAM (4) TEEE
Options:

E154755325. 1
E154755926 2
E154755927. 3
B154755928. 4

Question Number : 83 Question Id : 6154751521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ada niccaya — nayado cedanabhavam khu adassa,

— the above part of verse 1s quoted from this book

(1) pancastikaya (2) Gommatasara
(3) Dravvasangraha (4) Pravacanasara
Options:

E154755929. 1
6154755330 2
E154755931. 3
E154755932 4

Question Number : 83 Question Id : 6154751521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘HTET TUT=-TFg] =guTE g ST
ST YA 39 WY ¥ Iga @ -

(1) TITETehT (2) TIEER
(3) T=EHUT (4) TIEAER

Options:

6154755929 1
6154755920 2
£154755921. 2
6154755922 4

Question Number : 84 Question Id : 6154751522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



juvandho bujjhaim kunai akajjaem bahuaim | this part of the verse quoted from this book

(1) vasunandisravakacara (2) Rayanasara
(3) upasakadasanga (4) Astapahuda
Options:

E154755953. 1
B1547559234 2
5154755935 3
E15475539356. 4

Question Number : 84 Question Id : 6154751522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

JAHT S FUE FFSAT SEATE | T2 WA H A 5H TY Y IgT A —

(1) =A== (2) TER

(3)  FUTEEEET (4) I=UEsS
Options:

E1547553932. 1
6154755934 2
E154755935 3
E154755936. 4

Question Number : 85 Question Id : 6154751523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Suyano suddhasahavo mailijanto w1 dujjanenal | Charena dappano viya

ahiyayaram nimmalo hoi| |* The characteristics of this person has been given in the above

verse

(1) king (2) poet
(3 gentleman (4) wicked
Options:

E1547553937. 1
E154755928. 2
5154755939 3
6154755340, 4

Question Number : 85 Question Id : 6154751523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T GgEeEl HEferadl fa gsmior| B goqen fam s Frwen 2 (0 3@ mun § sEe S A
™ ®—

(1) = (2) fa
(3) = A (4) 7T
Options:

E1547553937. 1
E154755928. 2
5154755939 3
6154755340, 4

Question Number : 86 Question Id : 6154751524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
dodhakavrtt: 1 found in this book

(1) prakrit Vyakarana (2) prakrit Laksana
(3) prakrit Sarvasva (4) Siddhahema sabanusasana
Options:

E154755941. 1
E154755942 2
51547553943 3
E154755944 4

Question Number : 86 Question Id : 6154751524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATFIT 9 TG H WE A 2

1) A = @) A wEm
(3) TR HE (4) TogrAemETEA
Options:

615475539411
61547553942 2
E154755943 3
E154755944 4

Question Number : 87 Question Id : 6154751525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Meaning of the word 'hi_mﬁqahe' used 1n sauraseni prakrit a of dramas 1s
(1) Wonder (2) dJoy

(3) Anger (4) Cryving

Options:



E1547553945 1
61547553946 2
51547553947 3
E1547553458. 4

Question Number : 87 Question Id : 6154751525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt Tl TIEAT T § FEE 95 T AT 39 AY H BT E

i~

(1) f= (2) s
(3) Wd (4) =
Options:

E154755945 1
E154755946 2
B1547553947 3
51547553948, 4

Question Number : 88 Question Id : 6154751526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“esasi vasu silasi ggahida”. This line i1s found in

(1) mrecchakatikam (2) rambhamamjari
(3) abhijn anasakuntalam (4) karpuramamjari
Options:

615475539459 1
6154755350 2
E1547558951. 3
E154755952. 4

Question Number : 88 Question Id : 6154751526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
B 1 L o e OO e 2B o2 B ]

(1)  F==%i2%H (2) TamE=
(3)  wATgFEETEAEE (4) FEE=
Options:

51547553945 1
6154755350 2
E154755351. 3
61547553952 4



Question Number : 89 Question Id : 6154751527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The sense of “dvadasa vasabhisitena’ used in Girnara Inscription 1s

(1) in the twelfth vear of coronation (2) twelve time coronation
(3) on going to exile for twelve years (4) on famine for twelve years
Options:

BE1547553953. 1
5154755954 2
E1547553955 3
61547553956 4

Question Number : 89 Question Id : 6154751527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fam wAfaema 9 T ged FrEtaiEdT ug = T8 A9 2

(1)  T=A99% & 90Ed 99 | (2) WHE 9 ATH BT |
(3) =W 99 F9aE T W (4) =EE 99 F IFE IS4 W
Options:

51547553953 1
5154755954 2
E1547553955 3
61547553956 4

Question Number : 90 Question Id : 6154751528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The number of the chapters of svayvambhi — chanda 1s

(1) five (2) eight
(3) seven (4) two
Options:

6154755357 1
E1547553958. 2
E1547553959 3
5154755360, 4

Question Number : 90 Question Id : 6154751528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

TRYDE T 5 A 7

(1) RIE! (2) =13

(3) @ (4) =



Options:

6154755957 1
6154755958 2
5154755959 2
154755960, 4

Question Number : 91 Question Id : 6154751529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following statements :
(a) Rajapraénivasttra is in third age prakrit

(b) Harbhadra's literature 1s 1n third age prakrt
(c) Sukhabodha commentary 1s in first age prakrit

(d) The language of lilavaikaha is in third age prakrit

Select the correct statement :

(1) (c) +(d) (2) (b)+(c)
(3) (a) + (b) (4 ®d+(@
Options:

51547553961 1
E154755962 2
E1547553963. 3
E154755964, 4

Question Number : 91 Question Id : 6154751529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 w9 v

(@) TEHTHEEA FAE TiE wE | 2

l'rb} l'-ln'. 3 i EF[ : 1:,.‘ j o _; I: --_-, _i:l_ -T:_:‘l

(c) TEEHEH Fl A WUH T WEd ° 7

(d) i=asFa F 9T T T 2

(1) (c) + (d) (2) (b)+(c)
(3) (a) + (b) (4) (b)+(d)
Options:

61547553961, 1
E154755962, 2



E154755963. 3
E1547553964, 4

Question Number : 92 Question Id : 6154751530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the following statements

(a) Prakrit was in existance during Vedic age

(b) Prakrit language started in sixth century B.C
(c) Prakrit was not part of dramas

(d) Mahavira svami preached in prakrit

Select the correct pair :

(1) (b) + (c) 2) (©+ ()
(3)  (d)+(b) 4) (a)+ (@)
Options:

E1547553965. 1
E1547553966. 2
E1547553967. 3
615475539658 4

Question Number : 92 Question Id : 6154751530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 9 e

(a) TRA e I H Al 7 ot |
(b) TITEA |TET 1 AR Tel TGl 5., F 5T
(c) TTRA ATEH FT T AE 4i

(d) WEETEEH |7 UG § 3eT fd 9

R ST I |

(1) (b) + (c) (2) (o) +(d)
(3) (d) + (b) (4) (a)+(d)
Options:

E154755965. 1
E1547553966. 2
E154755967. 3



E154755968. 4

Question Number : 93 Question Id : 6154751531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Eead the following statements :

(a) Vedic language depicts the elements of prakrt
(b) The language of upanga is in first age prakrit

(c) Ardhamagadhi contains some vedic forms

(d) Hindi has developed from second age prakrt

Select the correct pair of statement :

(1) (b) + (a) (2) (a)+(c)
(3) (c) +(d) (4) (d)+ (b
Options:

515475539659 1
6154755970 2
6154755971 3
E154755972 4

Question Number : 93 Question Id : 6154751531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ei=fereior

(a) dTSF AT H WHA & dod Gieiad w5l &

(b) ZTFT S 9T WUH FE WEG J 7
(c) s | ¥ dfew =7 #|
(d) ==t #1 T9mE qorTE WEd ° 5 E |

(1) (b) + (a) (2) (a)+(c)
(3) (c) + (d) (4) (d) + (b)
Options:

E15475596%9. 1
6154755970 2
6154755971 3
6154755972 4

Question Number : 94 Question Id : 6154751532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following statements :

(a) Apabhramsa 1s the origin of prakrit languages
(b) Praknt dhammapada 1s first age praknt
(c) Apabhram sa does not of belong to third age Prakrit

(d) Anga canons are written in the first age prakrit

Select correct pair of statements :

(1) (b) + (d) (2) (a)+(c)
(3) (c) + (a) (4) (d)+(a)
Options:

E1547558973. 1
B154755974 2
61547553975 3
E154755976. 4

Question Number : 94 Question Id : 6154751532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= =um 72 |

(a)  TIYS TTFEA F [ITEAH 7

(b) WA TEHUE WYH TH TEG F A

(c)  =ATFm T T TR T 2

(d) 3 P 99 JiE T § o ™ E)

(1) (b) +(d) (2) (a)+(c)
(3) (o) +(a) 4 @+ @
Options:

E154755373. 1
E1547558974 2
E154755975 3
BE154755976. 4

Question Number : 95 Question Id : 6154751533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read the following :

(a) kasta - kast_a

(b) gaccha — gaccha

(c) vyufljana — vajjana
(d) bhramar — pammara

Select the right option :

(1)  (a)and (b) (2) (c)and (a)
(3) (d) and (a) (4) (b)and (c)
Options:

E154755877. 1
E154755978. 2
B154755979 3
51547553980, 4

Question Number : 95 Question Id : 6154751533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a) =E — T

b) ™= - T==

() =™ — FI=am

(d) w92 — Wi

(1) (a) and (b) (2) (c) and (a)
(3) (d) and (a) (4) (b)and (c)
Options:

E154755877. 1
E154755978 2
B1547559759 3
E1547553980. 4

Question Number : 96 Question Id : 6154751534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Read the following :

(a) madhyhna — majhnha
(b) mrttika — mittiya
(c) zakala — sakara
(d) satyer — saca

Select the right option :

(1) (d) and (a) (2) (b)and (c)
(3) (a) and (b) (4) (c)and (d)



Options:

61547559581 1
£154755982 2
£154755983 2
6154755084 4

Question Number : 96 Question Id : 6154751534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= fafad =+t 18

(a) HATEA —  HSHUB

(b) g —  fafeen

(c) SED - Hhl

(d) Hed — =

eSSl T —

(1) (d) and (a) (2) (b)and (c)

(3) (a) and (b) (4) (c) and (d)
Options:

51547559811
6154755982 2
6154755952 3
E154755984. 4

Question Number : 97 Question Id : 6154751535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Eead the following :

(a) kamala —  kamvala
(b) vyasa —  WvAsu

(c) nirasa —  nirasa
(d) vismaya — Pimmaya

Select the right option :

(1) (a) and (c) (2) (d)and (c)
(3) (a) and (b) (4) (b) and (d)
Options:

61547553985, 1
E154755986, 2
B154755987. 3
5154755988, 4



Question Number : 97 Question Id : 6154751535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fefafad = 12

(a) “RHA — hdd

(b) =TH L
(c) ELakl —; TomTaT
d) To== — Ty

T SIS T -

(1) (a) and (¢) (2) (d) and (c)
(3) (a) and (b) (4) (b) and (d)
Options:

E1547553985. 1
E1547553986. 2
E154755987. 3
E154755988. 4

Question Number : 98 Question Id : 6154751536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Eead the following statements :

(a) The meanming of the word naya’ 1s example 1n nayadhammakahao
(b) The meaming of the word nayva’ i1s clan in navadhammakahao

(c) The meaning of the word ‘naya’ 1s knowledge in navadhammakahao
(d) The meaning of the word ‘naya’ 1s karma in nayadhammakahzo

Select the right option :

(1) (b) and (c) (2) (d)and (a)
(3)  (c) and (d) (4) (a) and (b)
Options:

E154755989. 1
6154755980 2
5154755991 3
61547553932 4

Question Number : 98 Question Id : 6154751536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) TAEEEIA B A 5 AY ‘;‘_Ei‘rr =l

(b) AT B O 99 F A B
() TETETHEREISAT B A 1 AY T 2
(d) TAETHFEIAT § A H A9 FH

(1) (b) and (c) (2) (d) and (a)
(3) (c) and (d) (4) (a) and (b)
Options:

E154755989. 1
B154755990 2
5154755991 3
6154755932 4

Question Number : 99 Question Id : 6154751537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Read the following statements :

(a) Subject of ‘pragéna vyakarana’is grammar
(b) Subject of ‘pragéna vyakarana’ is influx of karmas and prevention of karma
(c) There are two parts of ‘prasna vyakarana’
(d) Niryukti is written on ‘prasna vyakarana’

Select the right option :

(1) (b) and (c) (Z) (a)and (c)
(3) (c) and (d) (4) (d) and (a)
Options:

6154755992 1
E154755994 2
E154755995 3
E154755996, 4

Question Number : 99 Question Id : 6154751537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(@) U= ] A = 2|
(b) TEH=EAY 1 fA9g AEE-Oa 7|
(¢) TH=I=AY § T EUE 7

(d) wH=TE W R T A R

(1) (b) and (c) (2) (a) and (c)
(3) (e) and (d) (4) (d) and (a)
Options:

BE154755993. 1
6154755994 2
E154755935 3
61547559396, 4

Question Number : 100 Question Id : 6154751538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the following pairs

(a) Camdappahacariyam —  Jinesvarasin
(b) Sudamsanacariyam —  Vimalasin

(c) Surasundaricarivam — Dhanesvarasiri
(d) Paumacariyam — Devendrasiir

Select the right answer :

(1) (a) + (d) (2) (e + (b
(3) (b) + (d) (4 (a)+(e)
Options:

E154755937. 1
6154755998 2
E154755999 3
E154756000, 4

Question Number : 100 Question Id ;: 6154751538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a) =E=ElE —  FHvE R

(b) HEEUTERT — famemh

() TE==rE - TR R

(d) TEEE —  FEEER

(1) (a) + (d) (2) (c)+(b)
(3) (b) + (d) (4) (a)+ (o)
Options:

E154755937. 1
6154755998 2
E154755999 3
E154756000, 4

Question Number : 101 Question Id : 6154751539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the following :

(a) caritakavya — Kuvalayamalakaha
(b) muktakakavya —  wajjalagga

(c) campikavya — gahasattasal

(d) mahakavya —  setubadha

Select the right answer :

(1) (b) + (d) (2) (a)+(c)
(3) (c) + (d) (4) () +(a)
Options:

E154756001. 1
E154756002 2
E154756003. 3
6154756004, 4

Question Number : 101 Question Id : 6154751539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o =l Uz
(a) =TFEET = FAATACATFE]
(b) IEEEE - AT AT
(c) ==IHT=A - TeTaTaE
(d) wETR= - e
(1) (b) + (d) (2) (a)+(c)
(3) (c) + (d) (4) )+ (a)
Options:

6154756001, 1
E154756002, 2
E154756003 3
E154756004, 4

Question Number : 102 Question Id : 6154751540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the following :

(a) vasudevahindi — sanghadasagani
(b) kuvalayvamalakaha — nemichandra

(c) gaudavaho — udyotanasuri
(d) dhuttakkhana —  haribhadrasun

Select the correct pairs :

(1) (b)+(c) (2) (©+(@
(3) (a) +(d) 4) @+
Options:

6154756005, 1
E154758008, 2
E154756007, 3
E154756008. 4

Question Number : 102 Question Id ;: 6154751540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Creifih ?#Tq%

() geafars] e EEHLI

(b)  FHACTHHIATHE —  AfiEe

() IR —  FEEgR

(d  gTEEm —  wfeagght

(1) (b) + (c) (2) (c)+(d)
(3) (a) + (d) (4) @+ ®)
Options:

E154756005. 1
B154756006, 2
E154758007. 3
6154756003, 4

Question Number : 103 Question Id : 6154751541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the following pairs:

(a) nﬁqapaﬁcamﬂsahﬁ - mahesvarasiin
(b) rajanaseharanivakaha — haribhadrasur
(c) samaralccakaha —  Jine&varasiri

(d) vasudevahindi second part - dharmadasagani

Select the correct answer :

(1) (b) + (c) 2y (a)+(d)
(3) (c) + (d) (4) (b)+ (a)
Options:

E1547560059 1
6154756010 2
6154756011 3
6154756012 4

Question Number : 103 Question Id : 6154751541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FfefEad T 1 Uien:

(a) ATOTIEHT FET — W gR

(b) TEAVEECHESE —  wieEgh

() - ST G EG o+ :

d) =gza fausi g @vs — g T

(1) (b) + (c) (2) (a)+(d)
(3) (c) + (d) (4) (b)+(a)
Options:

B154756005 1
6154756010 2
6154756011, 3
E154756012 4

Question Number : 104 Question Id : 6154751542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following statements :

(a) mahakavya 1s written 1n prose
(b) setubandha 1s an epic
(c) kuvalayamalakaha is composed in prose and poem

(d) muktakakavya contains hife sketch

Select the correct answer :

(1) (a) + (b) (2) (b) +(c)
(3) (d) + (a) (4) (c)+(d)
Options:

61547560131
6154756014 2
E154756015 3
E154756016. 4

Question Number : 104 Question Id : 6154751542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fetetaa #u 72

(a) wEEREE T H o wE R
(b) TgE-d UE HETHEA A
(c) FaCTHHEATFA T - T § T 2

(d) TFFFEA H S Al 7

(1) (a)+(b) (2) (b)+ (e
(3) (d) + (a) (4) (c)+(d)
Options:

5154756013 1
6154756014 2
6154756015 3
E154756016, 4

Question Number : 105 Question Id : 6154751543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read these pairs :

(a) Rajasekhara — 15™ AD

(b) Rudradasa - 17 AD

(c) Visvesvara — 121 AD

(d) Ghanasyama — 18 AD

Select the correct answer :

(1) (a) + (c) (2) (b)+(c)
(3) (b) + (d) (4) (c)+(d)
Options:

6154756017, 1
E154756015. 2
E154756013 3
B154756020. 4

Question Number : 105 Question Id : 6154751543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a) TrAUE -~ 157w

b) wZIH ~ 1w

() Tavavm — 12" A

(d) =FTEm - 18" T

(1) (a) + (c) (2) (b)+(c)

(3)  (b)+(d) (4) (o) +(d)
Options:

B154756017. 1
6154756018 2
6154756019 3
6154756020, 4

Question Number : 106 Question Id : 6154751544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read these pairs :

(a) bhasa — avimarakam

(b) as vaghosa —  pratimanatakam

(c) kalidasa —  vikramorva éiyam
(d) sidraka —  svapnavasavadattam

Select the correct answer :

(1) (b) + (d) (2) (¢) +(d
(3) (a) + (c) (4) (b)) + (c)
Options:

61547560211
6154756022 2
E154756023 3
E154756024, 4

Question Number : 106 Question Id ;: 6154751544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= T I Al

(a) wg N IELE

(b)  TEE —  UiqgEREEY

(c) =Ifetam N CERAIE Hlp

(d) =% —  EeEEEEEy

() (b) 3 (d) (2) (o) #F (@)
(3)  (a) 3 (c) (4) (b) I (c)
Options:

61547560211
E154756022 2
E154756023. 3
E154756024, 4

Question Number : 107 Question Id : 6154751545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the following :

(a) kharavela —  Gujarat
(b) asoka — Garnar
(c) chatiyala —  Kakkuka
(d) pulavam —  Kalasi

Select the correct pairs :

(1) (b)) +(c) (2) (a)+(b)
(3) (o) +(d) (4 (d)+(a)
Options:

BE154756025 1
B154r56026 2
E154758027. 3
6154756028 4

Question Number : 107 Question Id : 6154751545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) @A — TS
(b) M - fw

(c) HieaT - wEF

(d) YeaTH — et

(1) (b) + (¢) (2) (a)+ (b)
(3) (c) + (d) (4) (d)+ (a)
Options:

E154756025. 1
E154756026 2
BE154756027. 3
B154756028. 4

Question Number : 108 Question 1d : 6154751546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Read these statement :

(a) ‘bharadha vasa’ 1s mentioned in the kharavela inscription
(b) ‘arthanta’ 1s mentioned 1n Asokan inscription

(c) the capital Adoka's empire was pataliputra

(d) kharavela inscription is found in Gujarat

Select the correct :

(1) (a) + (b) (2) (b)+(c)
(3) (c) + (d) (4) (a)+ (c)
Options:

BE1547560259. 1
6154756030 2
E154756031. 3
E154756032. 4

Question Number : 108 Question Id : 6154751546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= FUA F TR

(a) TR % U ¥ Waas 7 35E 2
(b) 39 = TeneiE 8 wHEd #1 3249 7
(c) ¥ o TIHTT i TG T 4|
(d) TERES F U &  TEd | 2|

(1) (a) + (b) (2) (b)+(c)
(3) (c) +(d) (4) (a)+(c)
Options:

61547560291
6154756030, 2
E154756021. 3
E154756032. 4

Question Number : 109 Question Id : 6154751547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following pairs :

(a) prakrt prakasa — vararucil

(b) gahalakkhana — hemacandra
(c) prakrit laksana — canda

(d) prakrit sarvasva - nanditadhya

Select the right answer :

(1) (a) + (b) (2) (o) +(d)
(3) (b) + (c) (4) (a)+(c)
Options:

E154756033. 1
E154756034 2
6154756035 3
E154756036. 4

Question Number : 109 Question Id : 6154751547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) TTHd TR ~ T

(b) TTEEEET ~  EEEg

(c) wiEFd @& LA

(d) v TEE ~  Afzared

(1) (a) + (b) (2) (e)+(d)

(3) (b) + () (4) (a)+ ()
Options:

6154756033 1
6154756034 2
E154756035 3
E154756036. 4

Question Number : 110 Question Id : 6154751548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following pairs :

(a) hemacandra — sabdamus&asana
(b) markandeya —  prakrit prakasha
(c) vararucl —  prakrit sarvasva
(d) prakrit laksana — canda

Select the right answer :

(1) (a) + (d) (2) (a)+(b)
(3) (b) + (c) (4) (c)+(d)
Options:

6154756037, 1
E154756038. 2
E154756039. 3
B154756040, 4

Question Number : 110 Question Id : 6154751548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a) FHE=S - <Isald

(b) wERUEA - BIEL e

() === - T HeA

(d) TTEd @& - TS

(1) (a) + (d) (2) (a)+ (b)
3 MO+ (@© (4 (©+(d)
Options:

B154756037. 1
6154756038, 2
6154756039 3
E154756040 4

Question Number : 111 Question Id : 6154751549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the pairs

(a) Dhanapala —  Paialacchinamamala

(b) Udaichandra — Palasaddamannavo

(c) Hemacandra — Desinamamala

(d) E.R. Chandra — Prakmt Hindi Kosha

Select the mght answer :

(1) (b) + (a) + (d) (2) (a)+(c)+(d)
(3) (c) +(b) + (d) (4) (b)+(c)+(a)
Options:

E154756041 1
6154756042 2
E154756043 3
6154756044, 4

Question Number : 111 Question Id : 6154751549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o e

(@) g —  UTSIASSHTHETE

b) ~  UTEEEgEEEEl

(c) 7S —  ZEfETEEE

(d) F. AW, =2 — A e Em

O ®+@+@ @ @+©+@

@R @ ®+@©+@
Options:

E154756041. 1
E154756042 2
6154756043 3
6154756044, 4

Question Number : 112 Question Id : 6154751550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Read the following statements :

(a) ‘bhagini’ is substituted to * bahir_ﬁ'
(b) ‘savvao 1s an indeclinable

(c) visa 1s in masculine gender

(d) socca 13 not a participle

Select correct answer :

(1) (c) + (d) (2) (a)+(b)
(3) (b) + (c) 4 (d)+(a)
Options:

6154756045 1
E15475604E, 2
E154756047 3
6154756045, 4

Question Number : 112 Question Id ;: 6154751550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a)  WIHT = "E AT T 2
(b) ~ H= TF 7T
(c) ?fMT’g'IrFmFE?I

{d} w 'a_ié.;- :!?'?T T!ﬂ;‘|

(1)  (e)+(d) (2) (a)+(b)
(3) (b)) +(c) 4) (d+(a)
Options:

E154756045 1
E15475604E, 2
E154756047 3
E154756045. 4

Question Number : 113 Question Id ;: 6154751551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the following statements :

(a) Anaptyxix 1s the devotion of vowel in the word.

(b) Anaptyxix 1s the augmentation of a vowel between conjunct consonant.
(c) Anaptyxix 1s the elizion of vowel.

(d) Visarga 1s not used 1in Praknt.

Select correct answer :

(1) (d)+(a) (2) (c)+ (b)
(3) (a) + (b) (4) (b)+(d)
Options:

E1547560459 1
6154756050 2
6154756051, 3
6154756052, 4

Question Number : 113 Question Id : 6154751551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a)  TEeaiE w2 H = ) O

(b) TR HIF =41 §iG T R AT
(c)  =Hiw == =1 =9 7|

(d)  wrFd | fEEE F1 vE A wE

(1) (@ +(a) 2) (©@+®
(3) (a) + (b) 4) ({®+ (@
Options:

5154756045 1
6154756050, 2
6154756051, 3
6154756052, 4

Question Number : 114 Question Id : 6154751552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the following statements :

(a) Words do not end with vowel.
(b) Consonant 1s not doubled 1n beginming of word.
(c) Words do not end with consonant.

(d) Words do not end with anusvara.

Select the correct pair :

(1) (@) + (d) (2) (o) +(a)
(3) (b) + (c) 4) (d)+(b)
Options:

BE154756053. 1
6154756054 2
6154756055 3
6154756056, 4

Question Number : 114 Question Id : 6154751552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) 158 T TE Fd |

(b) 92 WREW H =9 &1 fged A8 wral
() w8 == a1 7|

(d) 9157 TN TRl |

() (a)+(d) (2) (c)+(a)
(3) (b) + (c) 4 (d)+ b
Options:

5154756053 1
6154756054, 2
6154756055 3
6154756056, 4

Question Number : 115 Question Id : 6154751553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the following statements :

(a) Assimillation 1s related with consonant.
(b) Sandhi 1s done with sentences.

(c) Compound 1s done with words.

(d) Cases are related with verbs.

Select the correct pair:

(1) (a) + (c) (2) (®+(@
(3) (e +(d) 4) @)+ @
Options:

B154758057. 1
6154756058, 2
6154756059 3
E154756080, 4

Question Number : 115 Question Id : 6154751553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=1 = 72|

(a) e =S T 2
(b) =i Tt § =i =l 2
(c)  HA™ wsa | B A

(d) Tautn st o amg 7

(1) (a) + (c) (2) (b) + (c)

(3) (e +(d) 4 @+ @
Options::

6154756057, 1
E154756058. 2
E154756059 3
E154756060. 4

Question Number : 116 Question Id : 6154751554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read Unit I and Umt IL
Unit I Umnat II
(a) kasayapahuda (1)  Third Age Praknt
(b) uttaradhyayvanasutra (1) Second Age Prakrit
(¢) tiloyapannatti (111) First Age Prakrit
(d) paumacariu (iv) Modern Age Prakrit

Select right match :

(1) (a) + (i)
(2) (b) + (1)
(3) (e) + (iv)

(4) (d) + (1)
Options:
61547560681 1
6154756062, 2
154756063 2
154756064 4

Question Number : 116 Question Id : 6154751554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



zFTE 1 31 3% 11 =1 ufan|

T 1 it 11
(@) FEEES @ g A
(b) STEATHA (i) =% TTH TFa
(c) Toermaguors (i) wgH Fi= A
(d) wemEEE (iv) SgHA® TTH THd

(1)  (a)+ ()
2 O+

3) @+
4 (@ + (W

Options:

61547560681 1
6154756062, 2
6154756063 3
154756064 4

Question Number : 117 Question Id : 6154751555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read Unit I and Unit IT.

Unat I Unat IT
(a) Cihura (1) magadhl prakrita
(b) Peska (ii) paiéaci prakrita
(c) Hitapaka (111) apabhraméa prakrita
(d) Cholla (iv) maharastri prakrita

Select the right match :

(1) (@) + @), (b) + @), () + @, (d)+ (iv)
(2) (@) + (). (b) + (@). (c) + (iv). (d) + (1)
(3) (@) + (). (b)+ (), (c) + (v), (d) + ()

(4)  (@+@) b)+@). (©+@. (d+au
Options:

6154756065 1

E1547EE066. 2

G154756067. 3

6154756068, 4

Question Number : 117 Question Id ;: 6154751555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



s 1 3 1T wieu

s I w11
(@ (@) =T
(b) UEH (i1) T-m?ﬁm’-ﬁ
(c) TeaT=® (i) ST TFA
@ =g (iv) ==l ST

(1)  (a)+ (), (b) + (1), (¢) + (1). (d) + (iv)
(2) (a) + (), (b) + (1), (c) + (). (d) + (V)

(3) @+ @®. (b)+ (@), (c) + (iv), (d) + (1)
(4) (@) + (av). (b) + (1), (c) + (1), (d) + (111)

Options:

6154756065 1
6154756066, 2
6154756067, 3
154756068 4

Question Number : 118 Question 1d : 6154751556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read Unit I and Unit I1.

Unit I Unit IT
(a) mulacara (1) vativrsabha
(b) bhagavati Aradhana (1) nemicandra
(c) tiloyapannatti (1) Sivarva
(d) gommatasara (iv) vattakera

Select right match :

(1)  (a)+ (m). (b) + (). (c) + (11). (d) + (1)
(2) (a) + (iv), (b) + (1). (c) + (111), (d) + (i1)
(3) (a) + (1), (b)+ (v), (c) + (1), (d) + (1)

(4) (a) + (av), (b) + (m), (e) + (1). (d)+ (1)
Options:

6154756069 1

6154756070, 2

6154756071, 3

154756072, 4

Question Number : 118 Question Id : 6154751556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=TS I 37T II ufzw

= 1 =T 11
(2) HETER @ A
(b) WAl RIS (i) A==
(c) Toerm guorfs (il) T
(d) THZER Gv) T

(1)  (a) + (iid). (b) + (Av). (c) + (ii). (d) + (i)
(2) (@) + av), (b) + (1). (c) + (1), (d) + (1)
(3 (@+@. (b)+av). )+ {1). (d) + (1)

(49 (a)+ @v). (b) + (i), (c) + (). (d)+ ({D)
Options:

6154756069 1

E15475E070. 2

E154756071. 3

6154756072 4

Question Number : 119 Question Id ;: 6154751557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read Unit I and Unit I1.

Unit I Unit II
(a) paumacariyam (1) anantahamsa
(b)  surasundaricariyam (11) laksmanagani
(c) kummaputtacariyam () wvimalasun
(d) supasanahacariyam (1v) dhanesvara

Select the correct match :

(1) (a) + (1v)
(2) (b) + (111)
(3) (€) + (@)

(4) (d) + (1)
Options:
615475607321
E1547E6074 2
6154756075 3
6154756076, 4

Question Number : 119 Question Id : 6154751557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@ [va II =i gfen:

s 1 s 11
(@) TIHERA i) =4
(b) THs=RA (i)  =F&HoT T
(c) HFHTITTHEIE (i) feeTER
(d) FIETEERE (iv) HH7=R

() (@+aw
(2)  (b)+ ()
(3) )+

(4 (d)+ @

Options:

61547560731
6154756074, 2
6154756075 3
6154756076, 4

Question Number : 120 Question Id : 6154751558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Read Unit I and Unat IL

Unit I Unut IT
(a) karpUraman] ari (11 ghanasyama
(b) candaleha (1) WviSvesvara
(¢) anandasundari (i11) rajasekhara
(d) singaramanjari (iv) rudradasa

Select correct match :

(1) (@) + ()
2 @m+@

(3) (c) + (111)
(4 (d)+ @)

Options:

154756077 1
6154756078, 2
6154756079 3
6154756080, 4

Question Number : 120 Question Id : 6154751558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



z#1s [ g 11 %1 9izu:

g 1 e 11
(@) FIEE (1) ==7aH
(b) =&t (i) FwETm
(¢)  wAH=g= (i) T
(d) TmE=h (iv) *z=E

:'.'-IT"-.'&[ il-'ll Ik 1_']_.’-_-||.1.:

(1)  (a)+av)
2) (b +@)

(3) (o) + (1D
4 (@ + @

Options:
61547560771

E154756078 2
B154756079 3
E154756080. 4

Question Number : 121 Question 1d : 6154751559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following statements

(a) There are 14 rock edicts of Asoka on giranara.
(b) Asoka did not belong to magadha.

(c) The epithet of Adoka was "devanam priva’.

(d) Asoka was the son of Candragupta Maurya.

Select the correct pairs :

(1) (b) + (d)
(2) (c) + (b)
(3) (a) + (c)

(4) (d) + (a)

Options:

6154756081 1
£154756082. 2
1547560832 2
6154756084, 4

Question Number : 121 Question Id : 6154751559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7 Fom 72

(a) AR | w19 + dtes P 2
(b) 79I W = T T A

(c) 9T =hi IO 291 5 o)

(d) = FFH 5 F O 9

L ®+@
@ (©+®)

(3) (a) + (c)
(4) (d) + (a)



Options:

6154756081 1
154756082, 2
1547560832 2
6154756084, 4

Question Number : 122 Question Id : 6154751560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read Unit I and Unait IL

Umt I Unat IT
(a) trivikrama (1) prakmt prakasha
(b) canda (11) prakrita— Sabdanusasana
(c) wvararuci (111) haimasabdanusasana
(d) hemacandra (1v) prakrita laksana

Select correct matceh :

(1) (&) + ()
(2) (b) + (111)
(3) () + ()

(4 @+ (1)

Options:

154756085 1
6154756086, 2
6154756087, 3
6154756088, 4

Question Number : 122 Question 1d : 6154751560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9y i fzdm arfeeT = 99

=18 I =g 11
(a) Trfesrm (i) T T
®) =S (i) AT TEEEA
(c) == (i) FHIEEEIE
(d) FAEE (iv) wTFE

'-':'-l?ﬁ e tflj:ix "—1‘ |

(1) (a) + (1v)
(2)  (b)+ ()
(3 (©+@
(4 (d+ @)
Options:
6154756085 1
6154756086, 2

E154758087. 3
6154756088, 4

Question Number : 123 Question Id : 6154751561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read Unit I and Umt IL

Unit I Unit IT
(a) anaptyxix (1) siddh
(b) nasal elision (1) damm
(c) yasruti (111) damsana
(dy 1mtial vowel elision (iv) tisa

Select the correct matceh :

(1) (a) + (111)
2 (d+@
(3) (c) + (1v)

(4) (@d+ @
Options:
6154756089 1
6154756090, 2
£154756091. 2
154756092, 4

Question Number : 123 Question Id : 6154751561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



w15 I 31 =15 11 =i uieu)

7S 1 s 11
(a) TR 1 TEg
(b) FAFETEN (i) =
(¢ =gM (iii) ==
(d) iR (iv)

(1) (a)+
2 M®d+@

(3) (o) + @)
4 (@ + (@

Options:

1547560289 1
£154756090, 2
6154756091, 2
6154756092, 4

Question Number : 124 Question Id ;: 6154751562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read the Unit I and Unit II for correct mateh.

Unit I Umt II
(a) Setubandha (1)  Code of conduct of house holders
(b) Upasakadhyayana (11) Marriage of Sita and Rama
(¢) Vajjalaggam (1) Ravana wvictory
(d) Paumacariu (iv) Characteristics of gentleman

Identify correct match :

(1) @+ @) b+
2 O+, (©+av)
(3) (@ + (). (d)+(u)

(4) (d) + (). (a) + (11)
Options:

6154756053 1
6154756094 2
6154756095 3
6154756096, 4

Question Number : 124 Question 1d : 6154751562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



o vd fadr Tt w wE e % e —

Bt FGie|
(a) FgEH (i) ArEET
(b) SUHFT (i) s
(c) A=sTem (ii1) T
(d) A3 (1v) Head-5a%EY

TE e TEeE-

(L) (&) + @), (b) + ()
(2) (b) + (@), (c) + (V)
(3) () + (). (d)+ (1)

4 () + ), (@) + (w)
Options:
6154756093 1
6154756094 2
6154756095 3
61547560396, 4

Question Number : 125 Question 1d : 6154751563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read Unit I and Unit IL

Umnit I Unit IT
(a) mrechakatikam (1) Pravarasena
(b) setubandhnam (1) Jayawvallabha
(¢) nayakumarcariu (ii1) Sudraka
(d) wvajjalaggam (iv) Puspadanta

Identify correct pair:

(1) (D +@E). b)+3d). (c)+3di). (a)+ (v
(2) m+@. (c)+@{), (d+@1v). (a)+ (n)
(3) (@+@aw. () +@. () +av). (d)+a)
(4) (o) +@av), (d)+@). (b)+ (1), (a) + (@)

Options:

£154756097. 1

£154756098. 2

E154758099 3
E15475E100. 4

Question Number : 125 Question Id : 6154751563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frerTera s — I 37 31 — I =1 1fau:

g 1 T I
(a) T=FHIEFH (1) T
(b) HIEIH i) EE
(€) TIPTFATEIE (iil) IEF
(dy TS (iv) T

(1) (d) + @). (b)+@). (c)+ (), (a)+ (1v)
(2 M+@). (©+@d). (d+av). (a)+ Q)
(3) (@+@m).(b)+@. (c)+av). (@ + @)

(4 () +@av). (d)+ @). (b)+ @), (a)+ @)

Options:

154756097 1
6154756098, 2
6154756099, 3
6154756100, 4

Question Number : 126 Question Id : 6154751564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the correct order of the following group chronologically.

(a) apabhram Sa (b) mahﬁrﬁg@ﬁ

{c) éauraseni (d) ardhamagadhi

Select the right answer :

(1)  (b)+(a)+(d) +(c) (2) (e)+(b) + (a)+(d)
(3) (a) + (d) + (c) + (b) (4) (d)+ (c) + (b) + (a)
Options:

E154756101. 1
E154756102 2
BE154756103 3
5154756104, 4

Question Number : 126 Question 1d : 6154751564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FFEATTFa WThd 9TAT % THE 1 FIHRAET T8 fawen e —

(o}

(a) AT (b) wEETY

© i @ s

(1)  (b)+(a)+(d)+(c) (2) (o) +(b)+(a)+(d)
(3) (a)+(d)+(c)+ (b) (4) (d) +(c) +(b) +(a)
Options:

E154756101. 1
E154756102 2
BE154756103 3
5154756104, 4

Question Number : 127 Question 1d : 6154751565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the correct order of following poets chronologically.

(a) haribhadrasunm (b) pravarasena

(c) svavambhu (d) kundakunda

Select the right answer :

(1) (b) + (c) + (d) + (a) (2) (a)+(d)+ (D) +(c)
(3) (d)+(b)+(a)+ () (4) (e)+(a)+(d) + (b)
Options:

51547561051
E154756106 2
6154756107, 3
E154756105. 4

Question Number : 127 Question Id : 6154751565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ao oAl & T9F F FAHAEAN Fa1 [9HeT TEEE —

(@)  FEHEER (b) TETEA

(c) =g (d) =TT

(1) (b) + (c) + (d) + (a) (2) (a)+(d)+(b)+(c)
(3) (d) + (b) + (a) + (c) (4) (c)+(a)+(d)+ (b)
Options:

E154756105. 1



E154756106 2
B154756107. 3
6154756108, 4

Question Number : 128 Question 1d : 6154751566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the correct order of the following books chronologically.

(a) sukhabodhd tika (b) samanasuttam

(c) bhagavati aradhana (d) acaranga

Select the right answer :

(1) (a) + (d) + (b) + (c) (2) (d) +(c) + (a) + (b)
(3) (c) + (b) + (d) + (a) (4) (b) +(a)+ (c) + (d)
Options:

61547561059 1
6154756110 2
6154756111 =
E154756112 4

Question Number : 128 Question Id : 6154751566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e o= & 9y = = AL, TEAH —

(a)  THEETET R (b) THUEH

(c) W HATTEAT (d) =TI

(1) (@) + (d) + (b) + (c) (2) @+@+@+[d
(3) (c) + (b) + (d) + (a) (4) (b)+(a)+ (c)+(d)
Options:

5154756105 1
6154756110 2
E154756111. 3
E15475681172 4

Question Number : 129 Question Id : 6154751567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct order of the following dramatists chronologically.

(a) bhasa (b) sudraka
(e) vig akhadatta (d) kaldasa

Select the correct answer :

(1) (b)) +(c)+(a)+(d) (2) (d)+(b)+(c) + (a)
(3) (c) + (b) + (a) + (d) (4) (a)+(d)+(b)+(c)
Options:

51547581121
6154756114 2
6154756115 3
E1547568116. 4

Question Number : 129 Question Id : 6154751567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fTiRa Rl = "R i FEAFATEAR T

(a) HH (b)y ==

(c) EMILECE (d) =g

w3 A

(1) (b) + (c) + (a) + (d) (2) (d)+(b)+(c)+ (a)

(3) (c) + (b) + (a) + (d) (4) (a)+ )+ (b)) +(c)
Options:

E154756112. 1
6154756114 2
E154756115 3
E154756116. 4

Question Number : 130 Question Id ;: 6154751568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the following pair

(a) kumarvalacariyum —  hemacandra
(b) usaniruddham — rampanivada
(c) surasundaricarivam - dhanesvarsurl
(d) mahivalkaha —  viradevagani

Identify the correct order chronologically :

(1) (a)+(b)+(d)+(c) (2) (b) +(c) + (a) + (d)
(3) (c) + (a) + (d) + (b) (4) (d) +(b) +(c)+(a)
Options:

E15475E8117. 1



E154756118. 2
6154756119 3
6154756120 4

Question Number : 130 Question Id : 6154751568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a)  FARETHRE — FHEE

(b)  IUIHEgH —  TEYEE

(¢)  Tig—=il AnE N FELE L

(d)  wfEareFa — =g

(1) (@) + (b) + (d) + (c) (2) (b) +(c)+(a) +(d)
(3) (c) + (a) + (d) + (b) (4) (d)+(b)+ (c)+ (a)
Options:

61547561171
6154756118 2
6154756119 3
E154756120 4

Question Number : 131 Question Id : 6154751569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct order of the following books chronologically.

(a) Vajjalagga (b) Paumacariu

(c) Titthayarabhavana (d) Gahasattasal

Select the mght answer :

(1)  (d)+(b) +(a)+ (c) (2)  (c) +(a) + (d) + (b)
(3) (b) + (c) + (a) + (d) 4) (a)+(d)+ (c) + (b)
Options:

E154756121. 1
B154r56122 2
B154r568123 3
E154756124. 4

Question Number : 131 Question Id : 6154751569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feAtra 77T = WA TR W FEHAEEE TEE —

(a) daaAleti? (b) TIHES

(c) e T (d) TmEEEEE

(1) (d) + (b) + (a) + (c) (2)  (c) + (a) + (d) + (b)
(3) (b) + (c) + (a) + (d) (4) (a)+(d) + (c) + (b)
Options:

E154756121. 1
B154r568122 2
6154756123 3
6154756124 4

Question Number : 132 Question Id : 6154751570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct order of the following books chronologically.

(a) Kuvalayamalakaha (b) nayakumaracariu

(c) setubandha (d) kasayapahuda

Select the mght answer :

(1) (c) + (d) + (b) + (a) (2) (d)+(c)+(a)+ (b)
(3) (@ +(c)+(d+ () 4) (b)+(d)+(c) +(a)
Options:

BE154756125 1
B154r568126 2
6154756127 3
6154756128 4

Question Number : 132 Question Id : 6154751570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a) FAATHATRE] (b) TITEFHTEN

(©  HawH (d) =FHEEIES

(1) (€} +(d) + (b) + (a) (2) (d)+ (c) + (a) + (b)
(3) (a) +(c) + (d) + (b) 4) M+ + @)+ (a)
Options:

E1547568125. 1
E154756126 2



E154756127. 3
B154r58128. 4

Question Number : 133 Question Id ;: 6154751571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct order of the following books chronologically.

(a) vasunandisravakacara (b) pravacanasara

(c) sammaisuttam (d) acaranga

Select the mght answer :

(1) (a) + (d) + (b) + (c) (2) (c) +(a)+(d)+(b)
(3) (d) + (b) + (c) + (a) (4) (b)+(c)+(a)+(d)
Options:

615475612591
6154756130 2
6154756131 3
E154756132. 4

Question Number : 133 Question Id : 6154751571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)  FARMEFEER (b) TEETEN

(€  wosEd (d) =T

(1) (a) + (d) + (b) + (c) (2) () +(a)+(d) + (b)

(3) (d) + (b) + (c) + (a) (4) (b)+(c)+ (a)+(d)
Options:

5154756812591
6154756130 2
6154756131 3
E154756132. 4

Question Number : 134 Question Id : 6154751572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct order of the following enteries chronologically.

(a) hemasabdanus'asana (b) paiyalacchinamamala

(c) tiloyapannatti (d) prakmt laksana

Select the correct answer :

(1) (b) + (d) + (a) + (c) (2) @+ (a)+()+ (b
(3) (a) + (c) + (d) + (b) 4) (c)+(d)+(b) + (a)
Options:

BE154756133 1
6154758134 2
6154756135 3
61547561356 4

Question Number : 134 Question Id : 6154751572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)  FHIEETET (b) TTEIAESFTHHTA]

(c) GRIP PRI (d) wTEaEET

(1) (b) +(d) + (a) + (c) (2) (d)+(a)+(c) +(b)

(3) (a) + (c) + (d) + (b) (4) (e) +(d) + (b) + (a)
Options:

51547581331
6154756134 2
6154756135 3
E154756136. 4

Question Number : 135 Question Id : 6154751573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct order of the following enteries chronologically.

(a) Kakkuka 1nscription (b) Praknt inscription of Mathura

(c) Hathigumpha nscription (d) Giranara inscription

Select the correct answer :

(1) (d) + (c) + (b) + (a) (2) () +(d)+ (a) + (c)
(3)  (e)+(a)+(d)+ (b) (4)  (a) + (b) + (c) + (d)
Options:

E154758137. 1



E154756138. 2
615475681359 3
6154756140 4

Question Number : 135 Question 1d : 6154751573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=it Tafea + @5 99E T FAFAHEAR TEEE —

(a) FFF AT (b) WY WTEA AfeE
(¢)  =I9iTH sAfeng (d) TrER wheEg

(1) () + () +(b)+(a) (2) (b)+(d)+(a)+(c)
(3) (c) + (a) + (d) + (b) (4) (a)+(b)+(c)+ (d)
Options:

61547561371
E154756138. 2
BE154756139 3
6154756140 4

Question Number : 136 Question 1d : 6154751574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : ‘dava’ is the word of s'aurasani language

Reasons (R) : because 1nitial ‘t" of tavat has changed to ‘d’ and final ‘t' has ehided.

(1) (A) and (R) are right and (R) explains (A)
(2) (A) and (R) both are right but (R) does not explain (A)
(3) (A) 18 right but (R) 1s wrong

(4) (A) 1z wrong but (R) 1s right
Options:
61547561411
6154756142 2
154756142 2
154758144 4

Question Number : 136 Question Id : 6154751574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AFRIT (A) - FTE WIeg IEAT TR T B

T (R) : Tl 94 qTEd I o T 9l § 1 & SR q H AT g1 2
a1 T T2aH —

(1) (A) 3 (R) 2F1 9281 2 9971 (R) (A) =hl =9m@3n 4T 2

(2) (A) 3 (R) THT T& & 997 (R) (A) =l =I1EAT T8 F4al 2
(3) (A =El g g (R) Tord 2|
(4) (A) Tea & TR (R) TET 2

Options:

6154756141 1
£154756142. 2
6154756143 2
6154756144 4

Question Number : 137 Question Id : 6154751575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A): Having saluted the gate keeper said. “O God. my days have gone and
yvouth has falled down".

Reasons (R) : Kaficuki had reached his old age.

(1) (A) and (R) both are right and (R) explains (A)

(2) (A) and (R) both are mght but (R) does not explain (A)
(3) (A) 1s mght but (R) 1s wrong

(4) (A) 18 wrong but (R) 1= right

Options:

154756145 1

6154756146 2

154756147 2

1547568145 4

Question Number : 137 Question Id : 6154751575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR (A) 2RI = 2R TUTH el TE1-E 2, W e ¥ ™, dee e O B
% (R) : Tl ol JgraEdT ST o
HEl faea qg—,m_r“’_

(1) (A) 3T (R) THT ¥&T 7 91 (R) (A) i =3 i 2|

(2) (A) 37 (R) 21 H21 & 991 (R) (A) =1 =Ir& T81 =4 2
(3) (A ®El 2 g (R) 7eTd 2|
4) (A 7eE & g (R) =9 B

Options:

6154756145 1
6154756146 2
6154756147 2
6154756148 4

Question Number : 138 Question Id : 6154751576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The person with patience should not be careless even for a moment.
Reasons (R) : Because the death 1s not definitely rehable.

Select righ option :

(1) (A) and (R) both are right and (R) explains (A)

(2) (A) and (R) both are right but (R) does not explain (A)
(3) (A) 13 right but (R) 1s wrong

(4) (A) 12 wrong but (R) 1s right

Options:
£1547561459 1

E154756150 2
6154756151 3
E154756152. 4

Question Number : 138 Question 1d : 6154751576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATHFIA (A) R = AT o THE 7

aF (R) : 1 75 geg =1 FE W E A

(D) (A AT R) T T 7 70 (R) (A) F =0 T A
(2) (A) 317 (R) ZM1 @71 2 74T (R) (A) =1 =901 To1 F41 7|
(3) (A= = fFa (R) 7o 7

(49 (A 7= 7 A R) 79 2

Options:

6154756149 1
6154756150 2
6154756151, 3
154756152 4

Question Number : 139 Question 1d : 6154751577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A):  The laxicography ‘des'ilnamamala ’ contains literary beauty.

Reasons (R) : Because female beauty has been deseribed in quoted verses of this text.

Identify right option :

(1) (A) and (R) both are right and (R) describes (A)

(2) (A) and (R) both are right but (R) does not describe (A)
(3) (A) 18 right but (R) 1s wrong

(4) (A) 1z wrong but (R) 1s right

Options:

6154756153 1

£154756154 2

6154756155 =
E154756156. 4

Question Number : 139 Question Id : 6154751577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AfqFYA (A) ;. FEAEEET Hewe § o w9 )
T (R) : i 76 =8 7 Fi Tga monE § A i = 2

(1) (A 3R (R) ZA =4 7 30 R) (A) F1 =0 F4 2

(2)  (A) 3R (R) =H1 F&1 & 791 (R) (A) Tl =01 TH T 2|
(3 (AT g ®) A E
@ (A TeE ? g ) TE R

Options:
£1547568153 1



E154756154 2
6154756155 3
E154r56156. 4

Question Number : 140 Question Id : 6154751578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Asgzertion (A):  “danim’ is the example of the dropping of initial vowel in Prakrit.

Reasons (R) : Because initial 7’ of ‘idanim’ has not elided.

Identify mght match :

(1) (A) and (R) both are right and (R) explains (A)

(2) (A) and (R) both are right but (R) does not explain (A)
(3) (A) 18 right but (R) 1s wrong

(4) (A) 12 wrong but (R) 1s mght

Options:

6154756157 1
6154756158 2
6154756159 3
154756160 4

Question Number : 140 Question Id : 6154751578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT (A) T | AT 1 35t i 9e2 2|

7% (R) : 1 T TIH weE % @ T F SEH @ A 5 2

e e Tr=H |

(1)  (A) 3T (R) =H1 T2 & 7991 (R) (A) i == F 2|

(2) (A 3 (R) A TF 7 a9 (R) (A) F =00 Ta Far 2
(3) (AT Fg (R) 7o 7

@ (A7 g R) w2
Options:

61547561571

6154756158 2

£154756159 =

6154756160, 4

Sub-Section Number: 2
Sub-Section I1d: 61547571
Question Shuffling Allowed : Yes

Question Id : 6154751579 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension

Read the following passage and answer questions that follow :

Supariosam nama tavovanam ti . aha pavittho so tavovanam. dittho ya tena
tavasakulappahano ajjavakodinna namo tti. pecchiina ya panamio tenam. pucchio
isina — “Kuo bhavam agao” tti. tao tena savittharao niveio se attano vuttanto. bhanio ya
isina — “vaccha puvvakaya — kamma- parinai-vasenam evam parikilesabhaino jiva
havanti. ta narindavamana — pi-divanam dariddadukkhaparibhuyanam dohagga-
kalamka - dumiyanam itthajana -vioga-dahana - tattanam ya eyam param ihaparaloya-
suhavaham parama nivvuitthanam ti.

Sub questions

Question Number : 141 Question Id : 6154751580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage above. the head of the hermit family in the hermittage was
(1) acarva kartikeyva

(2) Ajjava kaundinya

(3) Jinasena

(4) gunabhadra

Options:

6154756161 1
154756162 2
1547561632 2
6154756164 4

Question Number : 142 Question Id : 6154751581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

This was stated by Head Seer to Agnisarma

(1) present karmas pain
(2) karmas of others pain us
(3) the living beings suffer due to the karmas of former birth
(4) desires pain us
Options:

E154756165. 1
BE154756166. 2
E154r58167. 3
61547561658 4

Question Number : 143 Question Id : 6154751582 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The hermitage ‘suparitosa’ was a place of this kind

(1) place of entertainment (2) play ground
(3) centre for woman education (4) place of extreme peace
Options:

E154756169. 1
BE154756170 2
61547568171 3
61547568172 4

Question Number : 144 Question 1d : 6154751583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



This passage 1s quoted from this book

(1) kuvalavamalakaha (2) samaralccakaha
(3) mahﬁﬁracari}'am (4) rayanavalakaha
Options:

61547561731
6154756174 2
E154756175 3
E154756176. 4

Question Number : 145 Question Id : 6154751584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The sense of the words — “dohagga- kalanka - dUmiyanam ” used in this passage is

(1) engrieved of the taint of misfortune (2) suffering from poverty

(3) suffering from disease (4) suffering from government rule
Options:

6154756177, 1

6154756178, 2

6154756179, 3

6154756180, 4

Question Id : 6154751579 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

FITARad e =i Ue ST HEftd 586 TeY | qRsed T3l o 39T aiey, —

AINSAE W qaE | 378 Ufaeel o qaEan et 3 au A eeTE STSSahi s AMi | iesen 7
U v qfese sfEvn — et wa e Tl e qur Afgeet fagen @ on g wioeT 7 3fon
— TR A THUEEHU UF TRREHTSU ST Fated | T A - SHT - TS S agaa T
BT - ZEATN SIS - ZEONTN T W SIS - ETeE WHegsee Tl

Sub questions

Question Number : 141 Question Id : 6154751580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T A A T AUE ° AEEe F TaE 9 —

(1) == Fiasa
(2)  ¥I=od Fis=
3  fFmm
(4) T



Options:

6154756161 1
154756162 2
1547561632 2
6154756164 4

Question Number : 142 Question Id : 6154751581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T 9§ SATIIET TR FAT —

(1) =98 = 6 3@ F=d 7 (2) 50 % FH FH 9@ o 2
(3) W % FH % FAO AG @ 7 B (4) z=3m =5 g@i Fdl 7
Options:

6154756165 1
E15475616E, 2
BE154756167. 3
E1547568168. 4

Question Number : 143 Question 1d : 6154751582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I AT9H 30 TR T -

(1)  =AESH = 9 (2) e = HEH
(3)  THi-FEm w5 (4) I T
Options:

6154756169 1
E154756170 2
E154756171 3
B154r58172 4

Question Number : 144 Question Id ;: 6154751583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T TN SH Y H 354 7 —

(1) EERERIRIE T (2) THIE=%s
(3) TEER=EE (4) TIAIETAFE
Options:

B154758173. 1
61547568174 2
6154756175 3
6154756176 4

Question Number : 145 Question Id : 6154751584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



50 T B AT 9E SR Feih-guEnr w59 2 —

(1) F_::%m—rr o & el o gl =Af (2) T & fitsa
(3)  fordi & o (4) TT==EEA ° difsa
Options:

B154758177. 1
61547568178 2
6154756179 3
E154756180. 4

Sub-Section Number: 3
Sub-Section 1d: 61547572
Question Shuffling Allowed : Yes

Question Id : 6154751585 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Read the following Gatha and answer based on the verse.

dhammo mamgalamukkittham ahimsa samjamo tavo

deva vi tam namamsamti jassa dhamme saya mano.

Sub questions

Question Number : 146 Question Id : 6154751586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

This verse is quoted from this book

(1) vipakasutra (2) dravyasangraha
(3) dasavaikalika sutra (4) ravanasara
Options:

E154756181. 1
E154756182 2
E154r568183. 3
61547561854, 4

Question Number : 147 Question 1d : 6154751587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The adjective of dharma in this verse 1s

(1) equanimity (2) corelation
(3) peace (4) excellant welfare
Options:

BE154756185. 1
E154r568186. 2
6154756187, 3
61547561858 4

Question Number : 148 Question Id : 6154751588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

These have been called the parts of “"dharma” 1n this verse

(1) faith, knowledge. conduct

(2) non-violence, restraint, austerity

(3) partial valid, absolute valid. knowledge
(4) substance, matter. karma

Options:

1547561389 1

154758190 2

E154756191. 3
BE154756192 4

Question Number : 149 Question Id : 6154751589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to this verse. what do the deities do to the person whose mind 1s always involved
in the dharma

(1) best on the boon (2) help
(3) pay money (4) =alute
Options:

E154756193. 1
6154756194 2
6154756135 3
6154756136, 4

Question Number : 150 Question Id : 6154751590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The kind of prakrit of this verse 1s

(1) ardhamagadhi (2) paidaci
(3) maharastri (4) apabhram sa
Options:

E154756197. 1



E154756198. 2
61547561959 3
B154758200, 4

Question Id : 6154751585 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

freferfaa myr 9 Tr=feg Ot Uvel % 39T ST —

=97 fa 9 THEfd =9 o= =9 qn| |
Sub questions

Question Number : 146 Question Id : 6154751586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tz MY TH TS H 359 & —

(1) T (2) AR

&

(3) CEISERsE (4) TIER

Options:

6154756181 1
6154756182 2
154756183 2
61547561584 4

Question Number : 147 Question Id : 6154751587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=H MYT H 99 = T B —

(1)  =Har (2) TE=F
(3) i (4) IehEETA
Options:

5154758185, 1
E154r568186. 2
6154756187, 3
61547561858 4



Question Number : 148 Question Id : 6154751588 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
™ M H 99 % 4 5 AT e T —

()  =9E, FH, =00 (2) oAfEmT, TEw, AU
(3) =, WHWI, AH (4) =4, 92, FH
Options:

E1547561859. 1
E154756190 2
6154756191 3
6154756132 4

Question Number : 149 Question 1d : 6154751589 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TH T % SIER THEE 54 Wl o9 ° RN TRl 7 SHeh! 2gal = i A

(1) F=EFA=32 (2) HE=d 4 7
(3) =THEE (4) TR i B
Options:

5154758153 1
6154756194 2
E154756135 3
61547561396, 4

Question Number : 150 Question Id : 6154751590 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=4 T i WG W R —

(1) AT (2) o=
(3)  HEWE (4) g
Options:

E154756197. 1
E154756198. 2
61547561959 3
G154758200. 4

: No Display Question Number : Yes

: No Display Question Number : Yes

: No Display Question Number : Yes



